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2  BEAZHADYE 349 / 20254
B #4423 2558 2FEY
[T © Lequhr) dB(A)]
i o [ ‘WA ‘4R
28 =A] | 58 AR A 4d £54
AL Ak _
5 7 vz s | %2 | T | A8E | e |dear| 9=
AN 50 55 65
S92 45~73 | 49~68 | 51~68 | 51~58 | 51~65 | 47~69 | 51~60 | 54~66 | 43~79
Zup/ER8la | 38/48 | 46/48 | 36/48 | 4/16 | 27/48 6/48 25/48 1/48 10/48
BRI 79.2% | 95.8% | 75.0% | 25.0% | 56.3% | 12.5% | 52.1% | 2.1% | 20.8%
73715 40 45 55
S92 38~60 | 45~61 | 42~63 | 47~50 | 44~58 | 35~56 | 42~56 | 54~61 | 38~53
ZA/ERSIA | 21/24 | 24/24 | 20/24 8/8 23/24 | 10/24 | 20/24 | 19/24 | 0/24
Sl 87.5% | 100.0% | 83.3% | 100.0% | 95.8% | 41.7% | 83.3% | 79.2% | 0.0%
S 65 70
S92 51~66 | 58~65 | 61~67 | 70~72 | 66~73 | 59~69 | 62~65 | 68~72 | 63~70
ZI/EREIA | 7/32 0/32 2/32 16/16 | 32/32 | 18/32 | 0/32 10/32 | 0/32
Sl 21.9% | 0.0% 6.3% | 100.0% | 100.0% | 56.3% | 0.0% | 31.3% | 0.0%
73715 55 60
S92 44~63 | 50~59 | 49~61 | 66~70 | 59~67 | 54~63 | 54~62 | 67~71 | 55~64
/ARSI | 8/16 3/16 8/16 8/8 16/16 | 15/16 | 10/16 | 16/16 | 8/16
Sl 50.0% | 18.8% | 50.0% | 100.0% | 100.0% | 93.8% | 62.5% | 100.0% | 50.0%
ESIVELSEIES 145/240 274/480 58/240
I 60.4% 57.1% 24.2%
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